C:h Solving Quadratic Equations Name:

Solve each problem. Write your answer asa decimal rounded to 2 places. Answers
1) x(Ix+3)=4 2) x(-3x+10)=-25
1.
2.
3.
4,
3) x(5x-30)=-25 4) x(-5x-29)=20
5.
6.
7.
8.
5) x(15x+17)=4 6) x(8x-4)=12
9.
10.
7) x(12x+2)=4 8) x(-4x-8)=4
9) x(16x - 36) =-20 10) x(4x+8)=5
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Solve each problem. Write your answer asa decimal rounded to 2 places.

1)

3)

5)

7)

9)

Solving Quadratic Equations

X(Ix+3)=4

-3+ 32 - 4(1)(-4)
3+5
2

X, =

P|A Rk

X_:

x(5x - 30) =-25

30+ -302 - 4(5)(25)
30+ 20
1

X, =

el L SNIS

X_:

X(15x + 17) =4

17+ 172 - 4(15)(-4)
17 £ 23
30

X, =

oo|_,'> Ul

X_:

X(12x +2) =4
2+ «/ 20 - 4(12)(-4)

x(16x - 36) =-20

2)

4)

6)

8)

10)

36+ -362 - 4(16)(20)
36+4
2

X, =

Ll LN I3}

X_:

X(-3x + 10) = -25
10+ 102 - 4(-3)(25)

-10+ 20

P
I
i |dn Sl

X
I

X(-5x - 29) = 20

29+ 292 - 4(-5)(-20)
29+ 21
10
S5
%= -1
4

x = -5

X(8x - 4) =12

4+ -42 - 4(8)(-12)
4+ 20
16

X, =

Pl Nfw

X_:

X(-4x - 8) =4
8+ -82 - 4(-4)(-4)
8+0

8

X, =

|—\|H "_\‘I—‘

X = -

X(4x +8) =5
8+ «/ 82 - 4(4)(-5)

Name:. Answer Key
Answers
1. 1.00,-4.00
2. -1.67,5.00
3. 5.00,1.00
2. -5.00,-0.80
s, 0.20,-1.33
6. 1.50,-1.00
7z 050, -0.67
s. -1.00,-1.00
o. 1.25,1.00
10. 0.50,-250

[ Math ] www.CommonCoreSheets.com 1

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |




	Worksheet
	Answer Key

